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TNPSC GROUP I test batch – 2020 
TEST XII – CURRENT AFFAIRS (OCTOBER 2020) AND APTITUDE 

AND MENTAL ABILITY 
 

1. Match the following 
Cyclone in Tamilnadu Year 
A. Nisha   1. 2016 
B. Vardha   2. 2011 
C. Thane   3. 2012 
D. Nilam   4. 2008 
 A B C D 
a. 1 4 2 3 
b. 4 1 3 2 
c. 4 3 2 1 
d. 4 1 2 3 
nghUj;Jf 
jkpo;ehl;L Gay;fs;  Mz;L 
A. ep~h   1. 2016 
B. th;jh   2. 2011 
C. jhNd   3. 2012 
D. epyk;   4. 2008 
 A B C D 
a. 1 4 2 3 
b. 4 1 3 2 
c. 4 3 2 1 
d. 4 1 2 3 
 

2. The Basic Exchange and Cooperation Agreement (BECA) for geospatial intelligence 
(GEOINT) was signed between 
a. India and Russia   b. India and France 
c. India and USA   d. India and Japan 
Gtpapay; Gydha;Tf;fhd mbg;gil ghpkhw;wk; kw;Wk; xj;Jiog;G xg;ge;jj;jpy; (BECA) 
ifnaOj;jpl;l ehLfs; _________ 
a. ,e;jpah kw;Wk; u~;ah  b. ,e;jpa kw;Wk; gpuhd;R 
c. ,e;jpah kw;Wk; mnkhpf;fh d. ,e;jpah kw;Wk; [g;ghd; 
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3. With Regard to Amendments in Postal Ballot System under section 60 of the Representation 
of the People Act, 1951 following voters were allowed to cast their votes through postal 
ballot. 
1. Voters on election duty 
2. Service voters 
3. Voters under preventive detention 
4. Voters above 75 years of age or person with disabilities 
Which of the statements given above is/are correct? 
a. 1 and 3 only    b. 1, 2 and 3 only 
c. 2 and 4 only    d. 1 and 4 only 
1951Mk; Mz;L kf;fs; gpujpepjpj;Jt rl;lj;jpd; 60tJ gphptpd; fPo; jghy; thf;fspg;G 
jpUj;jq;fs; Fwpj;J> gpd;tUk; thf;fhsh;fspy; jghy; thf;fspf;f jFjpahdth;fis fz;lwpf 
1. Njh;jy; gzpapy; <LgLgth;fs; 
2. kf;fs; gzpapy; <LgLgth;fs; 
3. jLg;gf;fhtypy; cs;s thf;fhsh;fs; 
4. 75 taJf;F Nkw;gl;l thf;fhsh;fs; my;yJ cly; FiwghL cs;sth;fs; 
a. 1 kw;Wk; 3 kl;Lk;  b. 1> 2 kw;Wk; 3 kl;Lk; 
c. 2 kw;Wk; 4 kl;Lk;  d. 1 kw;Wk; 4 kl;Lk; 
 

4. Which was the first state in the country to pass bills rejecting the Centre’s contentious three 
farm laws 
a. Kerala  b. West Bengal  c. Punjab  d. Maharashtra 
kj;jpa muR mwpKfg;gLj;jpa %d;W tptrha rl;lq;fSf;F vjpuhd kNrhjhit 
epiwNtw;wpa ehl;bd; Kjy; khepyk; vJ? 
a. Nfush  b. Nkw;F tq;fk;  c. gQ;rhg;  d. kfhuh~;buk; 
 

5. The Programme “My Town My Pride” which intends to provide service and governance at 
the doorsteps to the people in Urban areas was launched in 
a. Delhi  b. Puducherry c. Ladekh  d. Jammu and Kashmir 
efh;g;Gw kf;fSf;F Nrit kw;Wk; eph;thf trjpfis tPl;bw;Nf te;J toq;Fk; jpl;lkhd 
“My Town My Pride” vd;w jpl;lk; vq;F Vw;gLj;jg;gl;Ls;sJ? 
a. nly;yp  b. ghz;br;Nrhp c. ylhf;  d. [k;K kw;Wk; fh~;kPh; 
 

6. Match the following 
Day       Date 
A. International Day of Girl Child  1. October 31 
B. National Unity Day   2. October 5 
C. World Teachers Day   3. October 24 
D. World Polio Day    4. October 11 
 A B C D 
a. 4 1 3 2 
b.  4 3 1 2 
c. 4 1 2 3 
d. 4 3 2 1 
nghUj;Jf 
jpdk;       Njjp 
A. rh;tNjr ngz; Foe;ijfs; jpdk; 1. mf;Nlhgh; 31 
B. ehl;bd; xw;Wik ehs;   2. mf;Nlhgh; 5 
C. cyf Mrphpah;fs; jpdk;  3. mf;Nlhgh; 24 
D. cyf NghypNah ehs;   4. mf;Nlhgh; 11 
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 A B C D 
a. 4 1 3 2 
b.  4 3 1 2 
c. 4 1 2 3 
d. 4 3 2 1 
 

7. The Serum Institute is located at 
a. Mumbai  b. New Delhi  c. Pune  d. Bangalore 
rPuk; epWtdk; mike;Js;s ,lk;  
a. Kk;ig  b. GJ jpy;yp  c. g+dh  d. ngq;f@U 
 

8. In order to create awareness and to tackle crime against women a women empowerment 
programme called “Mission Sakthi” was launched by the Government of 
a. Madhya Pradesh  b. Rajasthan   c. Uttar Pradesh  d. Delhi 
ngz;fSf;F vjpuhd Fw;wq;fis rkhspf;f tpopg;Gzh;it Vw;gLj;Jk; tpjkhf ngz;fSf;F 
mjpfhukspf;Fk; jpl;lkhd “kp~d; rf;jp” ia ve;j khepy muR Njhw;Wtpj;Js;sJ 
a. kj;jpagpuNjrk;  b. ,uh[];jhd; c. cj;jpugpuNjrk;  d. nly;yp 
 

9. The “Dolphin Jalaj Safari” is associated with which River in India. 
a. Indus River  b. Brahmaputra River 
c. The Ganga River  d. Yamuna River 
lhy;/gpd; [yha; r/ghhp vd;gJ ve;j ,e;jpa ejpAld; njhlh;GilaJ? 
a. rpe;J ejp   b. gpuk;kGj;jpuh epjp 
c. fq;if ejp   d. aKdh ejp 
 

10. The “Zojila Tunnel” will provide all-weather connectivity between  
a. Chenani and Nashri  b. Banihal and Qazigund 
c. Srinagar and Kargil  d. Srinagar Valley and Leh 
‘nrh[pyh Ruq;fk;’ vjw;fpilNa midj;J thdpiy ,izg;igAk; toq;fTs;sJ? 
a. nrdhdp kw;Wk; eh~;hp  b. ghdp`hy; kw;Wk; fhrpfe;j; 
c. =efh; kw;Wk; fhh;fpy;  d. =efh; gs;sj;jhf;F kw;Wk; Ny 
 

11. The Jal Jeevan mission is aimed to provide tap connections to every household by 
a. 2022  b. 2028  c. 2024  d. 2030 
[y; [Ptd; jpl;lk; midj;J tPLfSf;Fk; ve;j Mz;bw;Fs; jz;zPh; Foha; ,izg;Gfis 
toq;fTs;sJ? 
a. 2022  b. 2028  c. 2024  d. 2030 
 

12. In the sixth BRICS Parliamentary Forum, India was represented by 
a. The Prime minister Shri Narendra Modi  
b. The vice president Shri.Venkaiah Naidu 
c. The Deputy Chairman of the Rajya Sabha 
d. The speaker of Loksabha, Om Birla 
MwhtJ gphpf;]; ehlhSkd;w $l;lj;jpy; ,e;jpah rhh;ghf fye;Jnfhz;l gpujpepjp ahh;? 
a. gpujkh; eNue;jpuNkhb   
b. Jiz FbauR jiyth; ntq;fa;ah ehAL 
c. khepyq;fsit Jiz jiyth; 
d. kf;fsit rghehafh;> Xk; gph;yh 
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13. The Nechiphu Tunnel is to be constructed at 
a. Sikkim    b. Mizoram 
c. Arunachal Pradesh  d. Assam 
er;rpG Ruq;fk; vq;F fl;lg;glTs;sJ? 
a. rpf;fpk;    b. kpNrhuk; 
c. mUzhr;rygpuNjrk;  d. m];]hk; 
 

14. Which country is formally joined to the International Monetary Fund as its 190th member? 
a. Monaco  b. Taiwan  c. East Timor   d. Andorra 
rh;tNjr gz epjpaj;jpy; 190tJ cWg;Gehlhhf Kiwg;gb ,ize;Js;s ehL vJ? 
a. nkhdhf;Nfh b. ijthd;  c. fpof;F ij%h;  d. me;Njhuh 
 

15. The National Digital Health Mission (NDHM) of India is in collaboration with which 
country for its E-Health initiative? 
a. Denmark  b. Sweden  c. Netherland  d. Germany 
,e;jpah mjd; kpd;-eyk; Kaw;rpf;fhf Njrpa vz;k ey jpl;lj;ij ve;j ehl;Lld; ,ize;J 
elj;jTs;sJ? 
a. nld;khh;f;  b. ];tPld;  c. nejh;yhe;J  d. n[h;kdp 
 

16. Which country has to be established in 2021 Exclusive “Water Attache” in its embassy in 
India? 
a. Switzerland  b. Brazil  c. Chile d. Israel 
ve;j ehL ,e;jpahtpy; mjd; J}jufj;jpy; “Water Attache” vDk; ePh; Nkyhz;ik 
njhopy;El;gj;ij 2021,y; epWtTs;sJ? 
a. ];tpl;rh;yhe;J  b. gpNurpy;  c. rpyp  d. ,];Nuy; 
 

17. The Urbaser – Sumeet which is entrusted with the solid waste management of Chennai 
Corporation is from 
a. Spain  b. Denmark  c. France  d. Germany 
jplf;fopT Nkyhz;ikf;fhf nrd;id khefuhl;rpAld; xg;ge;jk; nra;Js;s ch;Ngrh; - Rkpj; 
vDk; epWtdk; ve;j ehl;il Nrh;e;jJ? 
a. ];ngapd;  b. nld;khh;f;  c. gpuhd;R  d. n[h;kdp 
 

18. An experimental satellite developed by students of Karur in Tamilnadu to be launched by 
NASA in the Sub-Tropical space is called as 
a. TAMIL SAT    b. Nano – SAT 
c. INDIA SAT    d. Info SAT 
jkpo;ehl;by; f&H; khzth;fshy; cUthf;fg;gl;L Jiz ntg;gkz;ly tpz;ntspapy; 
ehrhthy; Vtg;gl;l Nrhjid nraw;ifNfhspd; ngah; ahJ? 
a. TAMIL SAT    b. Nano – SAT 
c. INDIA SAT    d. Info SAT 
 

19. The Centre’s One Nation, One Ration Card launched by Tamilnadu Government is 
executed under 
a. Tamilnadu Civil Supplies Act 1956 
b. Food Safety and Standard Act 2006 
c. National Food Security Act 2013 
d. Essential Commodities Act, 1955 
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kj;jpa murpd; xU ehL> xU FLk;g ml;il jpl;lk; jkpo;ehl;by; ve;j rl;lj;jpd; %yk; 
nray;gLj;jg;gl;lJ? 
a. jkpo;ehL czTnghUs; toq;fy; rl;lk; 1956 
b. czT ghJfhg;G kw;Wk; jur;rl;lk; 2006 
c. Njrpa czT ghJfhg;G rl;lk; 2013 
d. mj;jpahtrpa nghUl;fs; rl;lk; 1955 
 

20. The Supreme Court of India appointed a one man committee for preventing stubble 
burning in Punjab, Haryana and Uttar Pradesh under 
a. Justice Mehr Chand Mahajan b. Justice Bijan Kumar Mukherjee 
c. Justice Madan B. Lokur  d. Justice Sudhi Ranjan Das 
gQ;rhg;> `hpahdh kw;Wk; cj;jpugpuNjrj;jpy; itf;Nfhy; vhpg;ig jLf;f ,e;jpa 
cr;rePjpkd;wk; epakpj;j xU egh; FOtpd; jiyth; ahh;? 
a. ePjpaurh; nkh; re;j; kfh[d; b. ePjpaurh; gp[d; fkhh; Kfh;[p 
c. ePjpaurh; kjd; B. Nyhf;Fh; d. ePjpaurh; Rjp uQ;rd; jh]; 
 

21. Match the following  
Weapon System   Feature 
A. RUDRAM   1. anti-submarine torpedo 
B. SMART   2. Land attack cruise missile 
C. NIRBHAY   3. Anti-Radiation missile 
D. Shaurya   4. Nuclear capable S-T-S missile 
 A B C D 
a. 3 1 4 2 
b.  3 4 1 2 
c. 3 1 2 4 
d. 1 2 3 4 
nghUj;Jf 
MAj Kiw   rpwg;gk;rk; 
A. RUDRAM   1. ePh;%o;fp vjph;g;G lhh;ngNlh 
B. SMART   2. epyg;gFjpapid jhf;Fk; VTfiz 
C. NIRBHAY   3. fjph;tPr;R vjph;g;G VTfiz 
D. Shaurya   4. mZ jpwd; nfhz;l S-T-S VTfiz 
 A B C D 
a. 3 1 4 2 
b.  3 4 1 2 
c. 3 1 2 4 
d. 1 2 3 4 
 

22. Which of the following is correctly matched? 
I. Suraksha Kavach – Joint exercise between Indian army and Maharashtra police 
II. SLINEX 20 - India and Bangladesh Naval Exercise 
a. I  only  b. I and II only  c. II only  d. All of the above 
rhpahf nghUe;jpAs;s ,izfis fhz;f 
I. Ruf;~h fthr; - ,e;jpa ,uhZtk; kw;Wk; fhty;Jiwf;F ,ilNaahd $l;Lg;gapw;rp 
II. SLINEX 20 - ,e;jpa kw;Wk; tq;fNjr flw;gil gapw;rp 
a. I kl;Lk;  b. I kw;Wk; II kl;Lk;  c. II kl;Lk;  d. ,it midj;Jk; 
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23. Match the following 
Acts     Year 
A. Trade Union Act   1. 1947 
B. Minimum Wages Act  2. 1926 
C. Equal Remuneration Act 3. 1976 
D. Industrial Dispute Act  4. 1948 
 A B C D 
a. 2 4 1 3 
b. 2 4 3 1 
c. 2 3 4 1 
d. 2 1 3 4 
nghUj;Jf 
rl;lq;fs;    Mz;L 
A. njhopw;rq;f rl;lk;  1. 1947 
B. Fiwe;jgl;r $yp rl;lk;  2. 1926 
C. rkCjpa rl;lk;   3. 1976 
D. njhopw;Jiw gq;fPl;L rl;lk; 4. 1948 
 A B C D 
a. 2 4 1 3 
b. 2 4 3 1 
c. 2 3 4 1 
d. 2 1 3 4 
 

24. The Blue Flag certification validates  
a. Plastic Free Animal Research   
b. Eco-Friendly Lakes 
c. Environment Friendly Beaches   
d. Clean, Safe and environment Friends Parks 
ePyf;nfhb rhd;wpjo; toq;fg;gLtJ 
a. nefpopaw;w tpyq;Ffs; Muha;r;rp 
b. Rw;Wr;#oYf;F cfe;j Vhpfs; 
c. Rw;Wr;#oYf;F cfe;j flw;fiufs; 
d. Rj;jkhd> ghJfhg;ghd kw;Wk; Rw;Wr;#oYf;F cfe;j g+q;fhf;fs; 

 
25. Vijayalakhsmi Raman was the first Indian _________ 

a. Woman officer of Indian Air Force 
b. Woman fighter Aircraft pilot 
c. Woman pilot to fly an Aircraft 
d. First Woman Wing Commander 
tp[ayl;Rkp uhkd; Kjy; ,e;jpa ___________ 
a. ,e;jpa tpkhdg;gilapd; ngz; mjpfhhp 
b. ngz; tpkhd giltPuh; 
c. tpkhd ngz; tpkhdp 
d. Kjy; ngz; thD}h;jp rPwfj;jiyth; 
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26. Match the following 
Books        Author 
A. On the Trails of Buddha Journey to the East  1. Shashi Tharoor 
B. Portraits of Power     2. Sarbpreet Singh 
C. Night of the Restless spirits    3. Deepankar Arun 
D. The Battle of Belonging     4. N.K. Singh 
 A B C D 
a. 3 4 1 2 
b. 3 1 4 2 
c.  1 2 3 4 
d. 3 4 2 1 
nghUj;Jf 
E}y;        E}yhrphpah; 
A. On the Trails of Buddha Journey to the East  1. ~rp j&h; 
B. Portraits of Power     2. rh;gphPj; rpq; 
C. Night of the Restless spirits    3. jPgd;fh; mUz; 
D. The Battle of Belonging     4. N.K. rpq; 
 A B C D 
a. 3 4 1 2 
b. 3 1 4 2 
c.  1 2 3 4 
d. 3 4 2 1 
 

27. The Sanitation Literacy Campaign to Promote Literacy on “WASH” is undertaken by 
a. IFCI  b. SIBI  c. IRBI  d. NABARD 
“WASH” gw;wpa tpopg;Gzh;T Fwpj;J Rfhjhu vOj;jwpT gpur;rhuj;ij Nkw;nfhs;tJ 
___________ 
a. IFCI  b. SIBI  c. IRBI  d. NABARD 
 

28. Human rights group Amnesty International has announced to quit from which country? 
a. United states b. India  c. China  d. North Korea 
kdpjchpikfSf;fhd rh;tNjr nghJ kd;dpg;G mitapypUe;J tpyFtjhf mwptpj;j ehL 
vJ? 
a. mnkhpf;fh  b. ,e;jpah  c. rPdh  d. tlnfhhpah 
 

29. In which state, India’s first advanced manufacturing hub (AMHUB) is to be established? 
a. Maharashtra  b. Tamil Nadu  c. Gujarat  d. Karnataka 
,e;jpahtpd; Kjy; Nkk;gl;l cw;gj;jp ikak; (AMHUB) ve;j khepyj;jpy; epWtg;gl;l 
cs;sJ? 
a. kfhuh~;buk;  b. jkpo;ehL   c. F[uhj;  d. fh;ehlfk; 

 
30. The prime minister launched the distribution of property cards under which scheme? 

a. SVAMITVA  b. SWAYAM  c. SVANidhi  d. SVEEKAR 
 nrhj;J Mtzq;fis ve;j jpl;lj;jpd; fPo; gpujkh; tpepNahfpj;jhh;? 

a. SVAMITVA  b. SWAYAM  c. SVANidhi  d. SVEEKAR 
  
31. Which personality/institution won the Nobel Peace Prize 2020? 

a. Jacinda Ardern   b. Greta Thunberg 
c. World Health Organization d. UN World Food Programme 
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2020Mk; Mz;L mikjpf;fhd Nehgy; ghpR ngw;w egh; / epWtdk; vJ? 
 a. [rpe;jh Mh;nlh;d;   b. fpnul;lh Jd;ngh;f; 
 c. cyf Rfhjhu epWtdk;  d. If;fpa ehLfs; czT jpl;lk; 
 
32. Name the mobile app launched by leather sector skill council (LSSC) for enhanced quality 

assurance. 
a. Leather India b. Skill India  c. Scale India   d. LSSC India 
Nkk;gl;l ju cj;juthjj;jpw;fhf Njhy; Jiwapd; jpwd; FO cUthf;fpa ifg;Ngrp 
nraypapd; ngah; ahJ? 
a. nyjh; ,e;jpah b. ];fpy; ,e;jpah c. ];Nfy; ,e;jpah  d. LSSC ,e;jpah 
 

33. Which is the only city in India to have longest Bus Rapid Transit System (BRTS) network?
  
a. Surat  b. Ahmedabad  c. Kolkata   d. Patna 

 ePz;l tpiuthd NgUe;J Nghf;Ftuj;J Kiwia (BRTS) nfhz;Ls;s ,e;jpahtpd; xNu 
efuk; vJ? 

 a. #uj;  b. mfkjhghj;  c. nfhy;fj;jh   d. ghl;dh 
 

34. Who is the 1st Indian woman to win the wildlife photographer of the year 2020? 
a. Seema Gupta  b. Nihal Sarin 
c. Aishwarya Sridhar d. Sunidhi  
2020Mk; Mz;bd; tdtpyq;F Gifg;glf; fiyQh; ghprpid ntd;w Kjy; ,e;jpa ngz;kzp 
ahh;? 
a. rPkh Fg;jh   b. ep`y; rhpd; 
c. I];th;ah =jh;  d. Rdpjp 

  
35. Lemru elephant reserve is located in which state? 

a. Punjab  b. Maharashtra  c. Haryana  d. Chhattisgarh 
nyk;U ahid ghJfhg;gfk; mike;Js;s khepyk; vJ? 
a. gQ;rhg;  b. kfhuh~;buk;  c. `hpahdh  d. rl;b~;fh; 

 
36. Name the organisation which released the report titled, “world economic outlook”. 

a. International labour organisation (ILO) 
b. United Nations (UN) 
c. International monetary fund (IMF) 
d. World economic Forum (WEF) 
“cyf nghUshjhu fz;Nzhl;lk;” vd;w mwpf;ifia ntspapLk; mikg;G vJ? 
a. rh;tNjr njhopyhsh; mikg;G (ILO) 
b. If;fpa ehLfs; (UN) 
c. rh;tNjr gz epjpak; (IMF) 
d. cyfg; nghUshjhu kd;wk; (WEF) 
 

37. Election commission of India (ECI) constituted to examine the issues regarding the limits of 
expenditure for a candidate. Who is / are the member/members of the committee? 
a. Harsh Vardhan Shringla  b. Harish Kumar 
c. Umesh Sinha   d. Both b & c  
Ntl;ghsh;fspd; nryT tuk;G njhlh;ghd gpur;ridfis Muha ,e;jpa Njh;jy; Mizak; 
mikj;j FOtpd; cWg;gpdh; / cWg;gpdh;fs; ahh;? 
a. `h;~; th;jd; rphpq;fsh  b. `hp~; Fkhh; 
c. cNk~; rpd;`h   d. b kw;Wk; c 
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38. Name the anti-submarine warfare stealth corvette which was commissioned recently at the 
navel dockyard, Visakhapatnam 
a. INS Kavaratti   b. INS Arihant 
c. INS Chennai   d. INS Viraj 
tprhfg;gl;bdk; flw;gil jsj;jpy; ,ize;j cs;ehl;L njhopy;El;gj;jpy; jahuhd 
Nghh;f;fg;gy; vJ? 
a. INS ftuhl;b   b. INS `hp`e;j; 
c. INS nrd;id   d. INS tpuh[; 
 

39. Who heads the advisory committee constituted by NITI Aayog to evaluate the reforms in 
the urban planning education system? 
a. Rajiv Gauba   b. Rajiv Kumar 
c. Amitabh Kant   d. Ajay Kumar Bhalla 
efh;g;Gw jpl;lkply; fy;tpKiwapd; rPh;jpUj;jq;fis kjpg;gPL nra;a epjp MNahf; mikj;j 
MNyhrid FOtpw;F jiyik tfpg;gth; ahh;? 
a. uh[pt; fhgh   b. uh[pt; Fkhh; 
c. mkpjhg; fe;j;   d. m[a; Fkhh; gy;yh 
 

40. Great Indian bustard sanctuary is located in which state? 
        a. Karnataka  b. Uttar Pradesh        c. Tamil nadu d. Maharashtra  

 fhdkapy; gwit tif ruzhyak; ve;j khepyj;jpy; mike;Js;sJ? 
 a. fh;ehlfh  b. cj;jpugpuNjrk;  c. jkpo;ehL  d. kfhuh~;buk; 
 

41. PM Narendra Modi launched Kisan Suryodaya Yojna in which state?  
a. Odisha        b. Gujarat    c. Uttar Pradesh         d. Karnataka 
fprhd; rh;Nthjah jpl;lj;ij gpujkh; eNue;jpu Nkhb ve;j khepyj;jpy; Jtf;fpdhh;? 
a. xb~h b. F[uhj;  c. cj;jpugpuNjrk;  d. fh;ehlfk; 

 
42. Name the Indian origin person who has been elected as the president of Seychelles. 

a. Linyon Demokratik Seselwa  b. Wavel Ramkalawan 
c. Danny Faure     d. Sathya Naidu  
nra;nry;]; mjpguhf Njh;e;njLf;fg;gl;l ,e;jpa tk;rhtspia Nrh;e;jth; ahh;? 
a. ypd;ad; nlnkhfpul;bf; nrry;th b. Ntty; uhk;fythd; 
c. lhd;dp /ghh;     d. rj;ah ehAL 

  
43. Name the NASA observatory which has detected water molecules in one of the craters in 

the moon. 
a. ASTROSAT   b. MARINA  c. CORTENA  d. SOFIA 
epytpy; cs;s xU gs;sj;jpy; ePh; %yf;$Wfisf; fz;lwpe;j ehrhtpd; Ma;tfj;jpw;F ngah; 
vd;d?  
a. ASTROSAT   b. MARINA  c. CORTENA  d. SOFIA 

 
44. Which state is going to implement smart black board scheme for a better teaching 

environment? 
a. Telangana   b. Kerala  c. Tamil Nadu  d. Odisha 
rpwe;j fw;gpf;Fk; #oiy cUthf;f nghypTW fUk;gyif jpl;lj;ij nray;gLj;jTs;s 
khepyk; vJ? 
a. njYq;fhdh   b. Nfush  c. jkpo;ehL   d. xb~h 

 
45. Which Space Agency is going to participate in ISRO’s Venus Mission SHUKRAYAAN? 

a. CNES  b. NASA  c. Space X  d. JAXA 
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,];Nuhtpd; nts;sp Nfhspw;fhd Rf;uahd; jpl;lj;jpy; fye;Jnfhs;Sk; tpz;ntsp Kfik 
vJ? 
a. CNES  b. NASA  c. Space X  d. JAXA 

 
46. On October 2, 1955 who inaugurated Integral Coach Factory at Perambur in Chennai? 

a. K. Kamaraj  b. Nehru c. Dr. Rajendraprasad d.  Sri Prakasa 
mf;Nlhgh; 2> 1955,y; nrd;id nguk;g+hpy; ,uapy; ngl;b njhopw;rhiyia njhlq;fpitj;jth; 
ahh;? 
a. F. fhkuh[h; b. NeU c. Dr. uhN[e;jpugpurhj; d. = gpufhrh 
 

47. Find out the correct statements 
I. Veerapandiya Kattapomman was hanged on October 24, 1801 at Kayathar 
II. Marudhu Brothers were hanged on October 16, 1799 at Thirupathur 
III. Thirupur Kumaran was born on 4th October, 1904 at Sennimalai 
IV. Subramanyam Siva was born on October 4, 1884 at Vathalakundu  
a. I, III, IV  b. III, IV  d. I, IV d. II, III, IV 
rhpahd $w;Wfis fz;lwpf 
I. mf;Nlhgh; 24> 1801Mk; Mz;L faj;jhhpy; tPughz;ba fl;lnghk;kd; J}f;fpyplg;gl;lhh; 
II. mf;Nlhgh; 16> 1799Mk; Mz;L jpUg;g+hpy; kUJ rNfhjuh;fs; J}f;fpyplg;gl;ldh; 
III. mf;Nlhgh; 4> 1904Mk; Mz;L jpUg;g+h; Fkud; nrd;dpkiyapy; gpwe;jhh; 
IV. mf;Nlhgh; 4> 1884Mk; Mz;L Rg;gpukz;ak; rpth tj;jyFz;by; gpwe;jhh; 
a. I, III, IV  b. III, IV  d. I, IV d. II, III, IV 
 

48. Find out the incorrect statement 
a. New Deputy Governor of RBI – Rajeswar Rao 
b. New Chairman of SBI – Dinesh Kumar Hara 
c. Snow Leopard Day – October 24 
d. Dr. Tulasidas CHUGH Award – Sathish Mitra 
jtwhd $w;wpid fz;lwpf 
a. ,e;jpa hprh;t; tq;fpapd; Jiz MSeh; - ,uhN[];th; uht; 
b. ghuj tq;fpapd; Gjpa jiyth; - jpNd]; Fkhh; `uh 
c. gdpr;rpWj;ij jpdk; - mf;Nlhgh; 24 
d. lhf;lh;. Jsrpjh]; CHUGH tpUJ – rjp~; kpj;uh 
 

49. Tamilnadu won how many awards in National Startup Awards 2020?   
a. 4  b. 3  c. 5  d. 2 
Njrpa ];lhh;l;mg; tpUJfs; 2020,y; jkpo;ehL vj;jid tpUJfis ntd;wJ? 
a. 4  b. 3  c. 5  d. 2 
 

50. Which country organised Global AI Summit? 
a. Saudi Arabia  b. India  c. Russia  d. Brazil 
cyf nraw;if Ez;zwpT khehl;bid elj;jpa ehL vJ? 
a. rTjp mNugpah  b. ,e;jpah  c. ,u~;ah  d. gpNurpy; 
 

51. Who has been elected as the chair person of Governing body of the ILO? 
a. Geetha Gopinath  b.  Sri Anand Sinha 
c. Shyamala Gopinath d. Apurva Chandra 
rh;tNjr njhopyhsh; mikg;gpd; MSif FOtpd; jiytuhf Njh;e;njLf;fg;gl;lth; ahh;? 
a. fPjh Nfhgpehj;  b. = Mde;j; rpd;`h 
c. rpahksh Nfhgpehj; d. mg+h;t re;jpuh 
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52. Find out the incorrect pair 
a. India’s First Animal Bridge – Delhi to Mumbai 
b. India’s First Commercial Seaplane – Ahmedabad to Kevadia  
c. World Food Prize 2020 – Rattan Tata 
d. 2020 3M young scientist – Anika Chebrolu  
jtwhd ,iziaf; fhz;f 
a. ,e;jpahtpd; Kjy; tpyq;FfSf;fhd Nkk;ghyk; - nly;yp Kjy; Kk;ig tiu 
b. ,e;jpahtpd; Kjy; tzpf fly; tpkhdk; - mfkjhghj; Kjy; nfthbah tiu 
c. cyf czT ghpR 2020 – ul;ld; lhlh 
d. 2020 3M ,sk; tpQ;Qhdp – mdpfh nrg;NuhY 
 

53. Prime Minister Narendra Modi recently inaugurated India’s biggest Cardiac Hospital in  
a. Gandhi Nagar  b. Ahmedabad c. Varanasi  d. Delhi 
gpujkh; eNue;jpu Nkhb rkPgj;jpy; vq;F ,e;jpahtpd; kpfg;nghpa ,ja rpfpr;ir 
kUj;Jtkidia jpwe;Jitj;jhh;? 
a. fhe;jp efh;   b. mfkjhghj; c. thuzhrp  d. nly;yp 
 

54. Greater Chennai Corporation recently founded nature garden with 500 traditional saplings 
in _______ 
a. Madambakkam  b. Urapakkam 
c. Acharapakkam  d. Chembakkam 
ngUefu nrd;id khefuhl;rp 500 ghuk;ghpa kuf;fd;Wfis nfhz;L ,aw;if Njhl;lj;ij 
vq;F mikj;Js;sJ? 
a. khlk;ghf;fk;  b. Cug;ghf;fk; 
c. mr;rug;ghf;fk;  d. nrk;ghf;fk; 
 

55. Which party recently celebrated its 100th anniversary? 
a. Sironmani Gurudwara Prabanda Committee  b. Republic Party of India 
c. Assam Ganaparisad     d. CPI 
rkPgj;jpy; ve;j fl;rp jdJ 100tJ Mz;il nfhz;lhbaJ? 
a. rpNuhd;kzp FUJthuh gpuge;j fkpl;b   b. ,e;jpa [dehaf fl;rp 
c. m];]hk; fdghp~j;     d. CPI 
 

56. What is the rank of India in Global Hunger Index? 
a. 93  b. 94  c. 92  d. 91 
cyf grpf;FwpaPl;by; ,e;jpahtpd; epiy ________ 
a. 93  b. 94  c. 92  d. 91 
 

57. First Valmiki Day was celebrated on  
a. October 29  b. October 27  c. October 31  d. October 30 
Kjy; thy;kPfp jpdk; nfhz;lhlg;gLk; ehs; ________ 
a. mf;Nlhgh; 29 b. mf;Nlhgh; 27 c. mf;Nlhgh; 31 d. mf;Nlhgh; 30 
 

58. Match the following 
Nobel Prizes   Field 
A. Andrea Ghez  1. Physics 
B. Robert Wilson  2. Economics 
C. Louise Gluck  3. Literature 
D. Jennifer Doudna  4. Chemistry 
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 A  B C D 
 a.  4 3 2 1 
 b.  1 2 3 4 
 c.  1 4 3 2 
 d.  4 1 2 3 

nghUj;Jf 
Nehgy; ghpR   Jiw 
A. Md;hpah nf];  1. ,aw;gpay; 
B. ,uhgh;l; tpy;rd;  2. nghUshjhuk; 
C. Y}ap]; FSf;  3. ,yf;fpak; 
D. n[d;dp/gh; nlsl;dh 4. Ntjpay; 
 A  B C D 

 a.  4 3 2 1 
 b.  1 2 3 4 
 c.  1 4 3 2 
 d.  4 1 2 3 

 
59. A Road Well Travelled is the Autobiography of 

a. Ramvilas Paswan  b. R.K. Ragavan 
c. Bill Gates   d. Barack Obama 
A Road Well Travelled vd;gJ ahUila RarhpijahFk;? 
a. uhk;tpyh]; g];thd; b. R.K. uhftd; 
c. gpy;Nfl;];   d. guhf; xghkh 
 

60. Choose the correct statements 
I. Rafel Nadal of Spain who is called King of Clay won his 13th French Open Title and 

his 20th Grants Slam  
II. Iga Swiatek of Poland won her first Grants Slam Title at the 2020 French Open  
a. I only  b. II only  c. Both I and II d. None of these 
rhpahd $w;Wfis fz;lwpf 
I. fspkz;zpd; murd; vd;wiof;fg;gLk; ];ngapidr; Nrh;e;j u/Ngy; ehly; jdJ 13tJ 

gpnuQ;r; Xgd; gl;;lj;jpid ntd;wjd; %yk; 20 fpuhd;l;];yhk; gl;lq;fis 
ntd;Ws;shh;. 

II. Nghye;jpd; ,fh ];tnlf; jdJ Kjy; fpuhd;l;];yhk; gl;lj;ij 2020 gpnuQ;r Xgdpy; 
ntd;Ws;shh; 

a. I kl;Lk; rhp  b. II kl;Lk; rhp c. ,uz;Lk; rhp d. VJkpy;iy 
 

61. The central angle and radius of a sector of a circular disc are 180° and 21cm respectively. If 
the edges of the sector are joined together to make a hollow cone then the radius of a cone is  
a. 14 cm   b. 3.5 cm   c. 7 cm   d. 10.5 cm  
180° ikaf;NfhzKk; 21 nr.kP MuKk; nfhz;l tl;lNfhz tbtpyhd ,Uk;Gjfl;bd; 
Muq;fis ,izj;J xU $k;G cUthf;fg;gLfpwJ vdpy;> mf;$k;gpd; Muk;  
a. 14 nr.kP  b. 3.5 nr.kP  c. 7 nr.kP  d. 10.5 nr.kP  
 

62. The perimeter of the ends of a frustum of a cone are 44 cm and 8.4  cm. If the depth is 14 
cm, then find its volume.  
a. 1308.6 cm3  b. 1208.6 cm3  c. 1408.6 cm3  d. 1608.6 cm3 
xU Neh;tl;lf; $k;gpd; ,ilf;fz;lj;jpd; ,UGwKk; mike;j tl;l tpspk;Gfspd; Rw;wsTfs; 
KiwNa 44 nr.kP kw;Wk; 8.4  nr.kP> mjd; cauk; 14 nr.kP vdpy; mt;tpilf; fz;lj;jpd; 
fd msT?  
a. 1308.6cm3  b. 1208.6cm3  c. 1408.6cm3  d. 1608.6cm3 
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63. Water is flowing at the rate of 15 km/hr through a cylindrical pipe of diameter 14 cm into a 
rectangular tank which is 50 m long and 44 m wide. In how many hours will the water level 

in the tank raise by 21 cm? Take 
22

7
 =  

a. 3 hrs   b. 5 hrs  c. 2 hrs  d. 4 hrs  
14 nr.kP tpl;lKs;s xU cUis tbt Foha; topahf> jz;zPiu kzpf;F 15 fp.kP 
Ntfj;jpy; 50 kP ePsKk; kw;Wk; 44 kP mfyKs;s xU nrt;tf tbt njhl;bf;Fs; 
nrYj;jpdhy; njhl;bapy; 21 nr.kP cauj;jpw;F jz;zPh; epuk;g vj;jid kzp NeukhFk;? (

22

7
 = ) 

a. 3 kzp Neuk;  b. 5 kzp Neuk;  c. 2 kzp Neuk; d. 4 kzp Neuk;  
 

64. The surface areas of two spheres are in the ratio 9 : 25 : Then their volumes are in the ratio.  
a. 81 : 625  b. 729 : 15625  d. 27 : 75  d. 27 : 125 
,U Nfhsq;fspd; tisg;gug;G tpfpjk; 9 : 25 vdpy; mjd; fd msTfspd; tpfpjk;   
a. 81 : 625  b. 729 : 15625  d. 27 : 75  d. 27 : 125 

 
65. Arul has to make arrangements for the accommodation of 150 persons for his family 

function. for this purpose, he plans to build a tent which is in the shape of cylinder 
surmounted by a cone. Each person occupies 4 sq.m of the space on ground and 40 cu. 
meter of air  to breathe. what should be the height of the conical part of the tent if the height 
of the cylinderical  part in 8 m?  
a. 12 m  b. 6 m  c. 3 m  d. 8 m  
mUs; jdJ FLk;g tpohtpw;F 150 egh;fs; jq;Ftjw;F xU $lhuk; mikf;fpwhh;. $lhuj;jpd; 
mbg;gFjp cUis tbtpYk; Nkw;gFjp $k;G tbtpYk; cs;sJ. xUth; jq;Ftjw;F 4 r.kP 
mbg;gFjp gug;Gk; 40 f.kP fhw;Wk; Njitg;gLfpwJ. $lhuj;jpy; cUisapd; cauk; 8 kP 
vdpy; $k;gpd; cauk; vd;d? 
a. 12 kP  b. 6 kP  c. 3 kP  d. 8 kP  

 
66. A hemispherical bowl is filled to the brim with juice. The juice is poured into a cylindrical 

vessel whose radius is 50% more than its height. If the diameter is same for both the bowl 
and the cylinder, then, What is the percentage of juice that can be transferred from the bowl 
in to the cylindrical vessel.  
a. 100%  b. 75%  c. 50%  d. 25%  
Xh; miuf;Nfhs tbtf; fpz;zj;jpd; tpspk;G tiuapy; gor;rhW epuk;gpAs;sJ. cauj;ij 
tpl 50% mjpf MuKs;s cUis tbtg; ghj;jpuj;jpw;F gor;rhW khw;wg;gLfpwJ. 
miuf;Nfhsk; kw;Wk; cUis Mfpatw;wpd; tpl;lq;fs; rkk;. Mdhy;> fpz;zj;jpy; ,Ue;J 
vt;tsT rjtPjg; gor;rhW cUis tbt ghj;jpuj;jpw;F khw;wg;gLk;.  
a. 100%  b. 75%  c. 50%  d. 25%  
 

67. If the height is inversely proportional to the square of its radius, then the volume of the 
cylinder is (cu.units)  

a. 2r h   b. 2 rh   c. 22 r h   d.   
xU cUisapd; cauk; mjd; Muj;jpd; th;f;fj;jpd; jiyfPopf;F rkk;. vdpy; me;j 
cUisapd; fd msT (fd.myFfs;)  

a. 2r h   b. 2 rh   c. 22 r h   d.   
 
68. The barrel of a fountain pen cylinderical in shape is 7 cm long and 5 mm in diameter. A full 

barrel of ink in the pen will be used for writing 330 words on an average. How many words 
can be written using a bottle of ink containing one fifth of a litre?  
a. 48000  b. 64000  c. 56000  d. 72000 
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7 nr.kP ePsKs;s Xh; cUis tbt Ngdhtpd; tpl;lk; 5 kp.kP MFk;. ik KOik Mf 
cs;s Ngdhitf; nfhz;L ruhrhpahf 330 thh;j;ijfs; vOjyhk;. xU ypl;lhpy; Ie;jpy; xU 
gq;F ik xU ghl;bypy; cs;sJ vdpy; mjid gad;gLj;jp vj;jid thh;j;ijfs; 
vOjyhk;?  
a. 48000  b. 64000  c. 56000  d. 72000 

   
69. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter 

and same height is  
a. 1 : 2 : 3   b. 2 : 1 : 3  c. 1 : 3 : 2   d. 3 : 1 : 2  
xNu cauk; xNu MuKs;s cUis $k;G> Nfhsk; Mfpatw;wpd; fd msTfspd; tpfpjk;  
a. 1 : 2 : 3   b. 2 : 1 : 3  c. 1 : 3 : 2   d. 3 : 1 : 2  
 

70. Three coins each 2 cm in diameter are placed touching one another find the area enclosed 
by them.  
a. 0.25 cm2  b. 0.98 cm2   c. 0.16 cm2  d. 0.73 cm2 
2 cm tpl;lKs;s %d;W ehzaq;fs; xd;iw xd;W njhLkhW itf;fg;gl;lhy; mtw;Ws; 
milgLk; gFjpapd; gug;G?  
a. 0.25 nr.kP2  b. 0.98 nr.kP2  c. 0.16 nr.kP2  d. 0.73 nr.kP2  

 
71. Two cubes each of volume 216 cm3 are joined to form a cuboid. then, total surface area of 

the cuboid?  
a. 432 sq.cm  b. 288 cq.cm  c. 360 sq.cm  d. 684 sq.cm 
fd msT 216 f.nr.kP msTs;s ,U fdrJuq;fs; xd;Nwhnlhd;W ,izf;fg;gLk; NghJ 
fpilf;fg;ngWk; fdr; nrt;tfj;jpd; nkhj;j gug;G?  
a. 432 r.nr.kP  b. 288 r.nrkP  c. 360 r.nr.kP  d. 684 r.nr.kP  
 

72. How many hollow blocks of size 30 cm × 15 cm × 20 cm are needed to construct a wall 60m 
in length 0.3 m in breadth and 2 m in height.  
a. 4000  b. 16000  c. 40000  d. 1400 
ePsk; 60 kP> mfyk; 0.3 kP cauk; 2 kP cila Rth; vOg;g 30 nr.kP  × 15 nr.kP × 20 nr.kP 
msT nfhz;l nrq;fw;fs; vj;jid Njit?  
a. 4000  b. 16000  c. 40000  d. 1400 

 
73. The length breadth and height of a hall are 25m, 15m, 5m respectively. find the cost of 

renovating its floor and four walls at the rate of Rs. 80 per m2. 
a. 32,000  b. 62,000  c. 92,000  d. 1,46,000 
ePsk;> mfyk; kw;Wk; cauk; KiwNa 25kP> 15kP> 5 kP cila xU miwia GJg;gpf;f jsk; 
kw;Wk; 4 Rth;fSf;F xU rJu kPl;lUf;F & 80 MFk; vdpy; nkhj;j nryT vt;tsT?  
a. 32,000  b. 62,000  c. 92,000  d. 1,46,000 
 

74. The perimeter of an equilateral triangle is 30 cm. The area is. 

a. 210 3cm   b. 212 3cm   c. 215 3cm    d. 225 3cm  

xU rkgf;f Kf;Nfhzj;jpd; Rw;wsT 30 cm vdpy; mjd; gug;gsT?  

a. 210 3cm   b. 212 3cm   c. 215 3cm    d. 225 3cm  

  
75. If the ratio of the sides of two cubes are 2 : 3, then ratio of their surface areas will be  

a. 4  : 6  b. 4 : 9  c. 6 : 9  d. 16 : 36  
,U fd rJu gf;fq;fspd; tpfpjk; 2 : 3 vdpy; mtw;wpd; gf;f gug;Gfspd; tpfpjk;.  
a. 4  : 6  b. 4 : 9  c. 6 : 9  d. 16 : 36  
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76. An advertisement board is in the form of an isosceles triangle with perimeter 36 m and each 
of the equal sides are 13m. find the cost of the painting it at Rs. 17.50 (per sq.m)  
a. Rs. 1155  b. Rs. 1260  c. Rs. 945  d. Rs. 1050  
xU tpsk;gu gyifahdJ ,Urkgf;f Kf;Nfhz tbtpy; cs;sJ. mjd; Rw;wsT 36 kP. 
,U rkgf;fj;jpd; msT 13 kP mjw;F tz;zk; G+r xU rJu mbf;F & 17.50 MFk;. vdpy; 
nkhj;j nryT vt;tsT?  
a. Rs. 1155  b. Rs. 1260  c. Rs. 945  d. Rs. 1050  
 

77. The lengths of sides of a triangular field are 28m, 15m and 41m, then, find the cost of 
levelling the field at the rate of Rs. 20 per m2.  
a. Rs. 2640   b. Rs 2520   c. Rs. 2440  d. Rs. 2680  
28 kP> 15 kP> 41 kP vd;w gf;f msTfis cila xU Kf;Nfhz tbt taiy rkd;gLj;j 
xU (rJu kPl;lUf;F) & 20 MFk; vdpy; nkhj;j nryT vd;d?  
a. Rs. 2640  b. Rs. 2520  c. Rs. 2440  d. Rs. 2680 

 
78. A park is in the shape of a semi circle with radius 21 m. then, the total cost of fencing at the 

cost of Rs. 5 per meter.  
a. Rs. 435  b. Rs. 330  c. Rs. 540  d. Rs. 720  
xU miutl;lk; tbtpyhd G+q;fhtpd; Muk; 21 kP mjidr; Rw;wp Ntyp mikf;f xU 
kPl;lUf;F & 5 MFk;. vdpy; nkhj;j nryT?  
a. & 435  b. & 330  c. & 540  d. & 720  

 
79. A cow is tied up for grazing inside a rectangular field of dimension 40 m 36 m in one corner 

of the field by a rope of length 14m. then, How much are of the field left ungrazed by the 
cow.  
a. 824m2  b. 1446m2  c. 1366cm2   d. 1286m2 
xU gRthdJ 40 kP 36 kP vd;w ePsKk; mfyKk; cila xU nrt;tf tbt taypd; xU 
%iyapy; fl;lg;gl;Ls;sJ. mjd; fapw;wpd; ePsk; 14 kP vdpy;> me;j gR Nkahj gug;G 
vt;tsT?  
a. 824m2  b. 1446m2  c. 1366cm2   d. 1286m2 
     

80. A palm leaf fan (sector) of radius 10.5 cm and whose perimeter is 43 cm. then the central 
angle of a palm tree leaf fan.  
a. 54°   b. 120°  c. 126°  d. 216°  
xU gid Xiy tprpwpapd; Muk; 10.5 nr.kP mjd; Rw;wsT 43 nr.kP vdpy; me;j gid Xiy 
tprpwpapd; ikaf;Nfhzk; vt;tsT?  
a. 54°   b. 120 °  c. 126°  d. 216°  

    
81. If the biggest circle cut from a square side 'a' units. then, the area of the biggest circle? 

(approximately)  

a. 23
( . )

14
a sq units   b. 24

( . )
7

a sq units  c. 222 ( . )
7

a sq units  d. 211
( . )

14
a sq units  

a myFfs; gf;fk; cila xU rJuj;jpy; ,Ue;J ntl;b vLf;fg;gLk; kpfg; nghpa tl;lj;jpd; 
gug;G vd;d?  

a. 23
( . )

14
a sq units   b. 24

( . )
7

a sq units  c. 222 ( . )
7

a sq units  d. 211
( . )

14
a sq units  
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82. Find the area of the given figure (all units are c.m)  

    
           ________ 120 ___________ 

a. 3200 cm2   b. 2400 cm2   c. 3500 cm2   d. 3800 cm2  
,g;glj;jpd; gug;gsit fz;lwpf.  
a. 3200 nr.kP2  b. 2400 nr.kP  c. 3500 nr.kP  d. 3800 nr.kP  

    
83. The radius of the sphere is increased by 25% find the percentage increase in its surface area? 

a. 50%  b. 52.25%  c. 62.25%   d. 56.25% 
xU Nfhsj;jpd; Muk; 25% mjpfhpf;fg;gl;lhy; mjd; tisg;gug;G mjpfhpf;Fk; rjtPjk; 
vt;tsT?   
a. 50%  b. 52.25%  c. 62.25%   d. 56.25% 
 

84. When a man runs around circular plot of land 10 times, the distance covered by him is 352 
m, then the area of the plot?  
a. 97.24m2  b. 95.65m2  c. 98.56m2  d. 99.22m2  
xU kdpjd; xU tl;ltbt epyj;ij 10 Kiw Rw;wp tUtjhy; mth; 352 kPl;lh; J}uj;ij 
fle;jhh; vdpy; mt;tl;l epyj;jpd; gug;G?  
a. 97.24m2  b. 95.65m2  c. 98.56m2  d. 99.22m2  

    
85. The length and breadth of a room are 8 m and 5 m respectively, A red colour border of 

uniform width of 0.5 m has been painted all around on its inside. then the area of the 
border.  
a. 16 m2  b. 12m2   c. 8 m2   d. 24 m2  
xU miwapd; ePs mfyq;fs; KiwNa 8 kP kw;Wk; 5 kP xU rptg;Gepw vy;iy ghijahdJ 
mjid Rw;wpYk; cl;Gwkhf mike;Js;sJ. mjd; mfyk; 0.5 kP mjDs; th;zk; 
G+rg;gLfpwJ. mg;ghijapd; gug;G?  
a. 16 kP2   b. 12 kP2  c. 8 kP2   d. 24 kP2  
 

86. The collar of a shirt is in the form of isosceles trapezium whose parallel sides are 17 cm and 
14 cm and the distance between them is 4 cm. Find the area of canvas that will be used to 
stitch the collar?  
a. 124 sq.cm  b. 147 sq.cm  c. 152 sq.cm  d. None of these 
xU rl;ilapd; fhyh; gFjp ,U rkgf;fr; rhptfkhf cs;sJ. mjd; ,izg;gf;fq;fs; 
KiwNa 17 nr.kP kw;Wk; 14 nr.kP> cauk; 4 nr.kP vdpy; fhyh; ijg;gjw;F gad;gLj;jg;gLk; 
Jzpapd; gug;gsT?  
a. 124 sq.cm  b. 147 sq.cm  c. 152 sq.cm  d. ,tw;Ws; vJTkpy;iy   
 

87. A sweet is in the shape of rhombus whose diagonals are given as 4 cm and 5 cm. The 
surface of sweet should be covered by an aluminium foil, then, the cost of aluminium foil 
used for 400 such sweets at the rate of Rs. 7 per 100 sq.cm. 
a. Rs. 560   b. Rs. 280  c. Rs. 490   d. Rs. 140  
xU ,dpg;G tif rha;rJu tbtpy; cs;sJ. mjd; %iytpl;lq;fs; KiwNa 4 nr.kP kw;Wk; 
5 nr.kP ,dpg;gpd; Nkw;gug;G KOtJk; nky;ypa mYkpdpaj; jfl;lhy; %lg;gl Ntz;Lk;. 100 
r.nr.kPf;F & 7 tPjk; nkhj;jk; 400 ,dpg;Gfis mYkpdpa jfl;lhy; %l vt;tsT 
nrythFk;?  
a. Rs. 560   b. Rs. 280  c. Rs. 490   d. Rs. 140  
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88. In a parallelogram the base is three times its height. If the height is 8 cm then the area is  
a. 64 sq. cm  b. 192 sq.cm  c. 32 sq.cm  d. 72 sq.cm  
xU ,izfuj;jpd; mbgf;fk; MdJ mjd; cauj;ijg; Nghy %d;W klq;F. mjd; cauk; 8 
nr.kP vdpy; me;j ,izfuj;jpd; gug;G vt;tsT?  
a. 64 sq. cm  b. 192 sq.cm  c. 32 sq.cm  d. 72 sq.cm  
 

89. How many different rectangles can be made with 48 cm long string?  
a. 8   b. 48   c. 12   d. 24  
48 nr.kP ePsKs;s xU fk;gpiaf; nfhz;L vj;jid ntt;NtW nrt;tfq;fis cUthf;f 
KbAk;.  
a. 8   b. 48   c. 12   d. 24  

 
90. For the lunch, the food is kept in 3 Cylinderical containers of diameter 1.4 m and height 56 

cm. How many students can be served if the food is served twice with a hemispherical bowl 
of  radius 14 cm? 
a. 30   b. 75    c. 150   d. 225   
%d;W cUis tbt ghj;jpuj;jpy; kjpa czT jahuhf itf;fg;gl;Ls;sJ. ghj;jpuj;jpd; 
tpl;lk; 1.4 kP cauk; 56 nr.kP mt;Tzit 14 nr.kP MuKs;s miuf;Nfhs tbtg; 
ghj;jpuj;jhy; ,UKiw ghpkhwpdhy; vj;jid khzth;fSf;F czT fpilf;Fk;?  
a. 30   b. 75    c. 150   d. 225   

 
91. Find the standard deviation of the first 7 consecutive odd integers. 

a. 2   b. 3   c. 5   d. 4  
Kjy; 7 xw;iw vz;fspd; jpl;l tpyf;fk;  
a. 2   b. 3   c. 5   d. 4  

 
92. In a two children family, find the probability that there is atleast one girl in a family.  

a. 
1

2
   b. 

1

4
   c. 

3

4
   d. 

2

3
 

,uz;L Foe;ijfs; cs;s xU FLk;gj;jpy; Fiwe;jJ xU ngz;Foe;ij ,Ug;gjw;fhd 
epfo;jfT?  

a. 
1

2
   b. 

1

4
   c. 

3

4
   d. 

2

3
 

  
93. The mean mark of 100 students was found to be 40. Later on, it was found that a score of 53. 

was misread as 83. find the correct mean corresponding to the correct score  
a. 40.3  b. 39.7  c. 42.3  d. 37.7  
100 khzth;fspd; kjpg;ngz;fspd; ruhrhp 40 vd;W fzf;fplg;gl;lJ. gpd;G> 53 vd;w 
kjpg;ngz; 83 vd;W jtWjyhf vLf;fg;gl;lJ vd njhpate;jJ. rhpahd kjpg;ngz;fisf; 
nfhz;L rhpahd ruhrhpiaf; fhz;f.  
a. 40.3  b. 39.7  c. 42.3  d. 37.7  

 
94. A researcher studying the behaviour of mice has recorded the time (in seconds) taken by 

each mouse to locate its food by considering 13 different mice as 31, 33, 63, 33, 28, 29, 33, 27, 
27, 34, 35, 28, 32. Find the median time that mice spent in searching its food?  
a. 32   b. 35   c. 33   d. 34 
xU Muha;r;rpahsh; 13 vypfspd; czT NjLk; gof;fj;ij Muha;r;rp nra;J> mit czT 
Njl vLj;Jf; nfhs;Sk; Neuj;ij 31, 33, 63, 33, 28, 29, 33, 27, 27, 34, 35, 28, 32 vd 
gl;baypl;Ls;shh;. vypfs; czT Njl vLJ;Jf;nfhs;Sk; Neuj;jpd; ,ilepiy msT?  
a. 32   b. 35   c. 33   d. 34 
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95. Find the mode for the following frequents table  
 

Wages  250 300 350 400 450 500 

Number of workers  10 15 16 12 11 13 

a. 450   b. 300   c. 400   d. 350  
gpd;tUk; epfo;ntz; ml;ltizapd; KfL fhz;.  

 
rk;gsk;  250 300 350 400 450 500 
Ntiyahl;fspd; 
vz;zpf;if  

10 15 16 12 11 13 

a. 450   b. 300   c. 400   d. 350  
 
96. Histogram is a graph of a _______ frequency distribution. 

a. continuous    b. discontinuous    
c. discrete     d. none of these  
epfo;Tr; nrt;tfk; vd;gJ xU _________ epfo;fT vz; guty;  
a. njhlh;r;rpahd    b. njhlh;r;rpaw;w  
c. jdpj;j     d. vJTkpy;iy  

 
97. The range of the first 20 natural numbers is  

a. 18   b. 20   c. 19   d. 21 
Kjy; 20 ,ay; vz;fspd; tPr;R  
a. 18   b. 20   c. 19   d. 21 

 
98. Arithmetic mean of 10 observations was found to be 22. If one more observation 44 was to 

be added the data then find the new mean of the data.  
a. 23   b. 26   c. 25   d. None of these  
10 fzf;fPLfspd; $l;L ruhrhp 22. 44 vd;w kjpg;G $Ljyhf Nrh;f;fg;gl;lhy; fpilf;Fk; Gjpa 
ruhrhp?  
a. 23   b. 26   c. 25   d. ,tw;Ws; vJTkpy;iy  
 

99. The median first 6 odd natural number is  
a. 6   b. 7   c. 8   d. 14  
Kjy; 6 xw;iw ,ay; vz;fspd; ,ilepiy  
a. 6   b. 7   c. 8   d. 14  
 

100. Find the mean and variance of first 10 natural numbers  

a. 
11 33

,
2 4

  b. 
11 121

,
2 4

  c. 
11 11

,
2 2

  d. 
11 89

,
2 12

 

Kjy; 10 ,ay; vz;fspd; ruhrhp kw;Wk; tpyf;fth;f;f ruhrhp vd;d?  

a. 
11 33

,
2 4

  b. 
11 121

,
2 4

  c. 
11 11

,
2 2

  d. 
11 89

,
2 12

 

 


